=> restart
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(> i = simplify(h)
__sin(21)¢
hh = 1
;> with(inttrans) :
> H:= %
(s"+4)
Hi= ——
(s +4)
(> hhh = invlaplace(H, s, t)
__sin(21)¢t
hhh = 1

;> restart
> u(t—2) = Heaviside(t — 2)
u(t— 2) := Heaviside(t — 2)

> plot(u(t—2),t=—1..5, scaling= CONSTRAINED))

;> with(inttrans) :
> U := laplace(u(t—2),1t,5s)

U=
S

> f = Heaviside(¢# — 1) — Heaviside(t — 2) + Heaviside(t — 3) — Heaviside(¢ — 4)
+ Heaviside(t — 7) — Heaviside(t — 8) + Heaviside(f — 9) — Heaviside(z — 10)
+ Heaviside(# — 13) — Heaviside(t — 14)

— Heaviside(t — 14)
(> plot(f,t=—1.20, scaling= CONSTRAINED)

1 ) .
> b= —-(sin(2t)-int(cos(2-tau)’, tau=0..t) — cos(2-¢)-int(cos(2-tau)-sin(2-tau), tau=0
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/= Heaviside(¢t — 1) — Heaviside(# — 2) + Heaviside(t — 3) — Heaviside(¢ — 4) + Heaviside(¢ (7)
— 7) — Heaviside(¢t — 8) + Heaviside(t — 9) — Heaviside(¢f — 10) + Heaviside(z — 13)
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(> Fi= laplace( f, t, s)
o e—s_e—2s+e—3s_e—4s+e—7s_e—85+e—9s_e—l()s _e—14s (8)
s
(> ji=¢—2
jm =2 ©
(> Ji= laplace(j, t, s)
1 2
J = ? - ? 10)
(> r(t—2) == (¢ — 2)-Heaviside(r — 2)
r(t—2) := (t— 2) Heaviside(t — 2) (11)
(> R= laplace(r(t—2),t,s)
—2s
e
Ri= & (12)
s

> plot(r(t—2),t==2.5, scaling= CONSTRAINED))




=> k := Dirac(t — 2)
k = Dirac(t — 2) 13)

(> K= laplace(k, t, s)
K=e " (14)

| > restart

> Castillo = 8- Heaviside(t — 2) + (¢t — 2)-Heaviside(t —2) — 2- (¢t — 3) -Heaviside(z — 3)
+ (t—4)-Heaviside(t — 4) — 3-Heaviside(t — 4) + (¢ — 6)-Heaviside(t — 6) — 2- (¢
— 7)-Heaviside(t — 7) + (¢t — 8)-Heaviside(# — 8) + 3-Heaviside(t — 10) + (£ — 10)
-Heaviside(# — 10) — 2- (¢ — 11)-Heaviside(t — 11) + (¢ — 12)-Heaviside(# — 12) — 8
Heaviside(¢# — 12) : plot( Castillo, t =—1 ..15, scaling = CONSTRAINED)




| > with(inttrans) :

> CASTILLO := laplace(Castillo, t, s)
—2s —12s —11s —10s —8 s —7s —6 s —4 5 =35
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